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75.7 18.9 2.7 2.7 W E
76.0 108 3.9 0.3 g gz H
76.4 20.7 2.5 0.4 o 2
79.2 15.1 5.7 - Ef e
76.3 145 7.9 1.3 7| E}
oMy sy
75.6 195 3.0 18 5 & 0 3
76.2 20.3 25 1.0 il E
76.5 18.8 45 0.2 MEO/HE oY
M ASHE
76.5 188 35 1.2 1002t ¢ ofot
72.9 23.0 3.4 0.7 100 ~ 2002t2! D[t
775 185 3.2 0.8 200 ~ 30021 Ofet
76.7 19.2 3.2 1.0 300 ~ 4002t Ofgt
779 19.1 2.9 - 400 ~ 50001 Ofgt
84.7 85 6.8 - 500 2t 0|4
77.8 22.2 - - DE/?38H
9424
72.7 22.1 4.4 0.8 B = A
755 19.9 3.8 0.8 2 Az A
80.9 16.7 17 0.7 5 M4 o Z

59



SR om B N

0x Jo

I I-58 BEUHIAEHA- ®H70]8 & RojN AEHAE WD
o2l %

7 2| He 2%x yot JZx| 2 Ho|ct a9 molck o4 2ot
M A 82.6 145 2.4 0.5
4 4

G it 81.9 15.3 2.3 0.6
of At 83.3 13.8 2.4 0.4
oy E4=71d

ot 2 88.9 74 3.7 -
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Z2(z2MZE) 80.1 16.3 2.9 0.7
W E 4 81.1 16.2 2.7 -
g 2 H 81.3 16.7 17 0.3
o 2 84.6 12.9 1.8 0.6
Ef = 81.1 15,1 3.8 -
7| E} 82.9 11.8 3.9 1.3
oMy siEd

5z 0 g 79.9 16.5 2.4 12
nl z 81.5 16.0 1.9 0.6
MED/HE 04 84.6 12.4 2.8 0.2
I ASHE

1002t¢ ofot 83.5 14.1 2.4 -
100 ~ 20021 ofgt 80.4 17.6 17 0.2
200 ~ 300244 ojet 82.9 13.7 2.8 0.6
300 ~ 4009k Ofgt 81.8 15.0 2.2 1.0
400 ~ 500244 ojgt 89.7 7.4 2.9 -
500 ¢ o4 915 5.1 3.4 -
2E/F8H 77.8 22.2 - -
9424

W = A 79.7 16.6 2.9 0.8
2 A = A 82.1 14.9 2.8 0.3
s M4 o E 86.3 12.0 1.2 0.5
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82.5 15.6 17 0.3 g gz H
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78.7 18.3 1.8 1.2 5z 0 3
82.1 15.7 16 0.6 il £
85.0 12.9 2.1 - MEO/HE oY
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83.5 14.1 2.4 - 1002t ¢ ofot
78.7 19.6 12 0.5 100 ~ 20024 ojot
84.9 13.3 16 0.2 200 ~ 30021 Ofet
82.7 14.1 2.2 1.0 300 ~ 4002t Ofgt
89.7 7.4 2.9 - 400 ~ 50001 Ofgt
89.8 5.1 5.1 - 500 ¢ o4
66.7 333 - - DE/?38H
9424
80.8 17.1 16 0.5 B = A
82.7 14.4 2.6 0.3 2 Az A
85.3 13.2 1.0 0.5 5 M4 o Z
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o 2 80.1 16.8 2.7 0.4
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7| E} 76.3 19.7 3.9 -
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zz 0 3 74.4 213 3.7 0.6
nl z 78.0 18.3 3.6 0.1
HEH/HE oY 79.0 17.4 33 0.3
I ASHE

1002t¢ ofot 80.0 14.1 5.9 -
100 ~ 2002t o[t 75.3 10.8 46 0.2
200 ~ 300218 ojet 785 17.7 3.6 0.2
300 ~ 400244 ojgt 76.7 20.8 1.9 0.6
400 ~ 50001 Tjgt 86.8 11.8 15 -
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2E/F8H 88.9 1.1 - -
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82.3 14.9 2.4 0.4 200 ~ 30021 Ofet
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88.2 8.8 2.9 - 400 ~ 5002184 fgt
84.7 13.6 17 - 500 ¢ oY
77.8 22.2 - - ZE/F8H
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100 ~ 2002+ Ofgt 82.2 16.1 15 0.2
200 ~ 300218 ojet 88.4 10.6 0.8 0.2
300 ~ 400244 ojgt 85.0 13.1 16 0.3
400 ~ 500219 ojpt 91.2 7.4 15 -
500 2HH ol4 84.7 13.6 1.7 -
2E/F8H 88.9 1.1 - -
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W = A 84.7 13.8 1.3 0.3
2 A £ ) 85.3 13.3 1.4 -
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88.1 10.7 1.0 0.2 o 2
81.1 17.0 1.9 - Ef e
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84.8 14.0 1.2 - 5 & 0 3
85.4 13.6 0.9 0.1 il E
87.6 11.2 1.0 0.2 HEW/HE o4
M ASHE
89.4 10.6 - - 1000 oot
83.1 15.9 1.0 - 100 ~ 20024 ojot
87.6 11.6 0.6 0.2 200 ~ 30021 Ofet
86.3 11.8 16 0.3 300 ~ 4002t Ofgt
91.2 7.4 15 - 400 ~ 50001 Ofgt
84.7 13.6 17 - 500 ¢ o4
88.9 1.1 - - ZE/F8H
9424
84.7 143 1.0 - B = A
85.7 13.2 1.1 - 2 A & N
88.5 10.3 0.7 0.5 5 M4 o Z

65

SH X om B M

0z 1o

—




B I-64 ERHIFAEHA- 439 BRY UHEG W34 © T 4 & I o

7l

=

E o2l %

Al

H

- 7 2| He 2%x yot JZx| 2 Ho|ct a9 molck o4 2ot

Z;:
M A 23.0 12.7 412 23.0
4 4
G %t 26.0 10.5 39.7 238
of it 20.2 14.9 42.7 22.2
oY &Al=71d
ot 2 20.4 148 426 22.2
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g 2 H 20.6 12.8 43.2 23.4
g = 22.7 13.7 457 17.8
Ef 2 28.3 15.1 453 11.3
7| Et 23.7 17.1 40.8 18.4
oMy sS4
zz 0 g 25.6 11.6 36.6 26.2
nl z 24.4 12.6 39.9 23.1
HEd/HE oy 20.8 13.2 44.0 22.0
I AEH
1002t ¢ ofo 28.2 10.6 35.3 25.9
100 ~ 2002k ofat 215 14.4 421 22.0
200 ~ 300244 ojet 24.9 11.4 38.4 25.3
300 ~ 4009k Ofgt 23.3 12.8 441 19.8
400 ~ 500244 ojgt 17.6 5.9 515 25.0
500 ¢ o4 16.9 22.0 40.7 20.3
DE/R3H 11.1 22.2 44.4 22.2
9424
0 = A 24.2 10.9 439 21.0
2 A £ A 20.9 13.3 425 23.3
s 4 o 255 13.5 36.8 24.3
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4.4 24.9 55.5 15.2 100 ~ 2002t2! D[t
5.0 20.7 60.0 143 200 ~ 30021 Ofet
5.1 27.8 55.0 12.1 300 ~ 40001 Ofgt
15 17.6 55.9 25.0 400 ~ 50001 Ofgt
3.4 25.4 59.3 1.9 500 2t 0|4
- 333 66.7 - DE/?38H
9424

4.4 20.8 62.1 12,7 W = A
5.1 24.8 56.6 135 2 Az A
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ot 2 3.7 35.2 50.0 11.1
22 (% 5) 2.9 275 53.9 15,7
32 (z2MZ) 5.8 26.8 51.4 15.9
W E 4 16.2 27.0 35.1 21.6
g g 4™ 5.3 27.0 53.2 145
g 2 6.6 28.9 52.7 11.9
Ef = 3.8 32.1 453 18.9
7| Et 3.9 21.1 56.6 18.4
oMy  stzd
2z 0 g 6.7 30.5 49.4 13.4
nl z 6.1 29.0 50.7 14,2
MEU/HE oY 5.1 25.8 54.2 14.9
I AEH
1000 of gt 3.5 24.7 57.6 14,1
100 ~ 202K Ofgt 5.4 27.4 52.1 15.2
200 ~ 300244 ofgt 6.0 27.1 52.6 14.3
300 ~ 400244 ojgt 6.7 31.6 495 12.1
400 ~ 500219 ojpt 7.4 25.0 485 19.1
500 ¢ o4 3.4 23.7 55.9 16.9
2E/F8H - 33.3 55.6 1.1
9424
0 = A 5.7 29.4 52.5 12.5
2 A = N 6.3 27.6 51.8 14.3
s M4 o E 49 26.7 52.0 16.4
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4.1 21.7 56.5 17.7 MEO/HE oY
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3.2 225 56.0 18.3 100 ~ 2002t2! D[t
48 19.1 57.0 19.1 200 ~ 300244 ojet
48 26.5 53.4 15.3 300 ~ 40001 Ofgt
15 22.1 54.4 22.1 400 ~ 50001 Ofgt
1.7 28.8 52.5 16.9 500 2t 0|4
- 22.2 77.8 - ZE/F8H
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E3(2HZF) 9.4 24.6 51.8 14.1
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2z 0 g 12.2 23.2 51.8 12.8
Il z 8.9 25.3 51.2 14.6
MEU/HE oY 7.4 26.1 50.1 16.4
I} AEH
1002t¢ ofot 5.9 32.9 435 17.6
100 ~ 20021 ofgt 8.1 25.7 50.6 15.6
200 ~ 300244 ojet 10.6 20.5 53.0 15.9
300 ~ 4009k Ofgt 8.9 29.7 50.2 1.2
400 ~ 50021 Tjgt 4.4 22.1 51.5 22.1
500 oHg o4 5.1 35.6 441 15.3
DE/®38H - 22.2 66.7 11.1
9424
W = A 7.8 236 56.1 12,5
2 A g A 9.0 26.4 49.1 15,5
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2.3 45 53.4 39.8 HEW/HE oY
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1.0 6.1 51.8 41.1 100 ~ 20028 o[t
1.2 4.4 52.4 42.0 200 ~ 30021 Ofet
2.6 5.4 57.5 345 300 ~ 4002t mfgt
- 15 456 52.9 400 ~ 5002184 fgt
1.7 3.4 59.3 35.6 500 2t 0|4
11.1 - 44.4 44.4 Deg/2ey
9424
1.0 4.2 60.5 34.3 B = A
17 48 51.8 417 2 A 2 )
1.7 5.6 48.8 439 5 M4 o Z
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Ef 2 5.7 26.4 52.8 15,1
7| E} 9.2 34.2 36.8 19.7
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nl z 8.4 36.4 40.1 15.1
MEU/HE oY 5.3 30.7 453 18.7
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1002t¢ ofot 7.1 32.9 40.0 20.0
100 ~ 20021 ofgt 6.6 35.9 445 13.0
200 ~ 300244 ojet 9.2 35.5 376 17.7
300 ~ 4009k Ofgt 8.9 348 41.2 15.0
400 ~ 500244 Ofgt 5.9 27.9 456 20.6
500 oHg o4 3.4 35.6 42.4 18.6
DE/R3H 11.1 33.3 33.3 22.2
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z A £ |\ 8.1 35.4 39.6 16.9
s 4 o E 7.1 34.1 40.9 17.9
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2.9 13.2 45.6 38.2 400 ~ 5002184 fgt
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3.4 21.3 46.0 29.4 B = A
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200 ~ 300244 ojet 0.6 5.0 50.2 442
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500 ¢ o4 1.7 3.4 57.6 37.3
DE/R3H - 11.1 44.4 44.4
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1.9 145 65.6 18.0 of it
oy E4=571
3.7 11.1 59.3 25.9 of 2
2.9 16.7 60.8 19.6 Z3(8Z §)
1.8 13.0 61.6 23.6 Z2(2ME)
8.1 18.9 45.9 27.0 W E 4
2.2 16.4 64.1 17.3 g gz H
3.1 15.6 64.1 17.2 o 2
- 17.0 54.7 28.3 Ef e
- 11.8 61.8 26.3 7| E}
oMy sy
18 18.3 58.5 213 5 & 0 3
3.3 16.9 60.8 19.1 il E
1.8 12.4 65.0 20.8 MEO/HE oY
M ASHE
35 11.8 56.5 28.2 1002t ¢ ofot
2.9 174 61.9 178 100 ~ 2002t2! D[t
16 143 64.9 19.1 200 ~ 300244 ojet
2.9 134 65.2 185 300 ~ 40001 Ofgt
2.9 17.6 471 32.4 400 ~ 50001 Ofgt
3.4 18.6 525 25.4 500 oHg o4
- 1.1 66.7 22.2 ZE/F8H
9424
3.4 13.2 63.9 195 W = A
2.5 16.0 61.8 198 2 Az A
1.7 15.7 61.5 21.1 s M o E
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M A 2.3 226 52.4 22.8
4 4

G %t 3.3 248 515 20.5
of Xt 1.4 205 53.3 24.9
oy E4=71d

ot 2 1.9 20.4 50.0 27.8
22 (tE 5) - 18.6 54.9 26.5
Z2(z2MZE) 1.1 19.2 53.3 26.4
W E 4 5.4 21.6 54.1 18.9
g 2 H 17 28.7 52.9 16.7
o 2 4.1 20.5 51.2 24.2
Ef 2 1.9 18.9 547 245
7| Et - 28.9 50.0 21.1
oMy siEd

5z 0 g 18 26.2 49.4 22.6
nl z 2.7 22.9 51.6 22.8
MED/HE 04 2.0 21.2 54.0 22.8
I ASHE

1002t¢ ofot - 25.9 471 27.1
100 ~ 20021 ofgt 17 26.4 51.3 20.5
200 ~ 300218 ojet 2.8 21.1 52.2 23.9
300 ~ 400244 ojgt 2.9 21.4 54.6 21.1
400 ~ 500244 ojgt 15 20.6 47 1 30.9
500 ¢ o4 3.4 13.6 61.0 22.0
DE/R3H - 11.1 66.7 22.2
9424

W = A 2.3 20.3 55.8 216
2 A = A 1.8 23.3 52.0 22.9
s M4 o E 2.9 235 49.8 238

124



E 1235 %AEFHS$- Uk BE 29N e Yse ¥ 23 9o

7l
=

e % = B

q I

e J%A oot | Ox| 22 Hojct 2 Ho|ct o4 2t T 2 o
1.7 235 58.5 16.2 Tl |
4 4
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oy E4=571
1.9 25.9 53.7 185 of 2
2.0 16.7 63.7 17.6 Z3(8Z §)
0.7 20.3 62.7 16.3 Z2(2ME)
- 27.0 432 29.7 W E
17 31.2 52.9 14.2 g gz H
2.9 20.7 60.9 15.6 o 2
- 30.2 58.5 1.3 Ef e
- 18.4 59.2 22.4 7| E}
oMy sy
0.6 28.0 60.4 11.0 5 & 0 3
2.2 25.3 55.0 175 il E
15 20.3 62.0 16.2 MEO/HE oY
M ASHE
47 17.6 52.9 24.7 1002t ¢ ofot
1.7 25.7 59.7 13.0 100 ~ 20024 ojot
16 25.3 56.0 17.1 200 ~ 30021 Ofet
13 22.7 61.7 144 300 ~ 40001 Ofgt
2.9 11.8 63.2 22.1 400 ~ 50001 Ofgt
- 18.6 59.3 22.0 500 ¢ o4
- 33.3 55.6 1.1 ZE/F8H
9424
2.1 25.5 56.1 16.4 B = A
15 235 57.8 17.2 2 Az A
1.7 218 62.0 145 5 M4 o Z
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M A 1.4 13.6 58.9 26.1
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G %t 16 15,7 57.4 25.3
of Xt 1.2 1.7 60.3 26.8
oy E4=71d

o 2 1.9 3.7 59.3 35.2
Z3(8% &) - 147 61.8 235
Z2(z2MZ) 1.8 9.1 63.0 26.1
W E 4 2.7 16.2 459 35.1
g g 4™ 1.4 16.7 58.2 23.7
g 2 16 13.9 58.8 25.6
Ef 2 - 18.9 50.9 30.2
7| Et - 145 55.3 30.3
oMy sS4

2z 0 g 1.2 17.7 59.8 21.3
nl z 1.3 13.9 60.2 24.6
ME/HE oy 15 12.2 57.2 29.1
I AEH

10092 ofgt 1.2 12.9 49.4 36.5
100 ~ 20021 Ofgt 1.2 15.6 60.6 225
200 ~ 300218 ojet 16 12.2 58.2 28.1
300 ~ 400244 ojgt 16 14,7 59.1 24.6
400 ~ 500219 ojgt 15 5.9 60.3 32.4
500 ¢ o4 - 15.3 62.7 22.0
ZE/R3H - 22.2 66.7 1.1
9424

W = A 16 12.2 62.3 23.9
g A = N 1.4 15.3 57.5 25.8
s M4 o E 1.2 12.3 57.8 28.7
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215 49.6 27.3 1.6 o 2
20.8 34.0 39.6 5.7 Ef e
19.7 42.1 28.9 9.2 7| E}
oMy sy
16.5 47.6 32.3 3.7 5 & 0 3
18.2 453 33.1 3.4 il E
22.3 47.8 27.8 2.1 MEO/HE oY
M ASHE
235 40.0 34.1 2.4 1002t ¢ ofot
16.9 49.6 30.6 2.9 100 ~ 20024 ojot
19.7 44.0 335 28 200 ~ 3002k4 ojet
21.7 50.2 26.2 1.9 300 ~ 4002t Ofgt
20.6 47 1 26.5 5.9 400 ~ 5002t fgt
22.0 39.0 33.9 5.1 500 ¢ o4
22.2 333 333 11.1 DE/?38H
9424
24.7 46.8 24.9 3.6 B = A
16.6 48.6 31.9 2.9 2 Az A
20.1 43.1 34.6 2.2 5 M4 o Z
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oy E4=71d

ot 2 1.9 3.7 53.7 40.7
22 (tE 5) - 2.9 61.8 35.3
Z2(z2MZE) 0.4 2.9 56.2 40.6
W E 4 2.7 10.8 37.8 486
g 2 H 0.6 47 61.0 33.7
o 2 1.2 3.5 57.2 38.1
Ef 2 1.9 11.3 47.2 39.6
7| Et - 2.6 52.6 447
oMy siEd

& 0 3 0.6 49 57.9 36.6
nl z 0.9 49 56.8 37.4
HEH/HZE o4 0.8 3.0 57.0 39.2
I ASHE

1002t¢ ofot - 4.7 50.6 447
100 ~ 20021 ofgt 0.7 5.6 60.1 335
200 ~ 300244 ojet 0.8 3.8 57.2 38.2
300 ~ 4009k Ofgt 1.3 3.2 55.6 39.9
400 ~ 500244 ojgt 15 4.4 50.0 441
500 oHg o4 - - 59.3 40.7
DE/R3H - - 55.6 44.4
9424

0 = A 0.8 2.9 57.1 39.2
2 A = A 0.9 3.7 58.9 36.5
s M4 o E 0.7 5.9 53.9 39.5
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3.1 18.9 59.0 19.1 o 2
5.7 13.2 62.3 18.9 Ef =
2.6 5.3 68.4 23.7 7| E}
oMy sy

3.7 213 54.9 20.1 5 & 0 3
2.1 17.0 61.1 198 il E
2.1 18.7 58.2 21.0 MEO/HE oY
M ASHE

35 21.2 50.6 24.7 1002t ¢ ofot
2.4 21.3 58.7 176 100 ~ 2002t2! D[t
2.4 16.9 59.2 215 200 ~ 3002k4 ojet
16 16.9 61.7 19.8 300 ~ 40001 Ofgt
15 13.2 61.8 235 400 ~ 50001 Ofgt
3.4 16.9 57.6 22.0 500 oHg o4
- 1.1 66.7 22.2 ZE/F8H
9424

2.1 16.4 60.0 216 i = A
2.1 19.2 59.7 19.0 2 Az A
2.7 184 57.6 213 s M o E
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of it 0.8 6.1 61.5 316
oy E4=71

ot 2 - 9.3 59.3 315
2 (5 ) - 2.9 67.6 29.4
ZZ(z2MZE) 0.4 8.0 55.1 36.6
W E 4 - 13,5 459 405
g 7z H 17 6.4 67.1 248
g 2 1.2 3.9 61.9 33.0
Ef 2 1.9 9.4 56.6 32.1
7| E} 1.3 6.6 60.5 316
oMy sEd

& 0 g - 9.1 59.1 31.7
Il z 1.0 5.8 61.8 31.4
MEU/HE oY 1.3 5.5 61.8 31.4
I} AEH

1002t¢ ofot - 5.9 58.8 35.3
100 ~ 20021 ofgt 1.7 7.8 65.5 24.9
200 ~ 300244 ojet 0.6 5.6 60.8 33.1
300 ~ 4009k Ofgt 1.3 5.1 61.3 32.3
400 ~ 50021 Tjgt 15 4.4 50.0 441
500 oHg o4 - 3.4 61.0 35.6
DE/R3H - 11.1 44.4 44.4
9424

W = A 1.3 6.2 60.0 325
2 A g A 0.8 6.3 62.3 30.7
s M of E 1.2 5.4 61.8 316
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46.3 40.7 7.4 5.6 of 2
45.1 38.2 12.7 3.9 Z3(8Z §)
355 478 12.0 47 Z2(2ME)
32.4 37.8 18.9 10.8 W E 4
37.3 47.9 1.4 3.3 g gz H
39.1 45.9 11.9 3.1 o 2
415 35.8 20.8 1.9 Ef e
421 28.9 26.3 2.6 7| E}
oMy sy

34.1 476 14.0 43 5 & 0 3
38.6 44.4 13.3 3.7 il E
40.2 44,0 12.2 3.6 MEO/HE oY
M ASHE

435 447 9.4 2.4 1002t ¢ ofot
36.7 457 13.9 3.7 100 ~ 2002t2! D[t
38.2 46.2 11.6 4.0 200 ~ 30021 Ofet
15 39.6 15.0 38 300 ~ 40001 Ofgt
39.7 441 11.8 4.4 400 ~ 50001 Ofgt
32.2 50.8 13.6 3.4 500 ¢ o4
55.6 333 11.1 - DE/?38H
9424

413 40.5 14.3 3.9 i = A
39.1 43.9 13.2 38 2 Az A
35.8 495 1.3 3.4 5 M4 o Z
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M A 2.8 16.8 62.0 18.4
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G Xt 3.5 16.1 61.2 19.1
of Xt 2.0 17.5 62.7 17.8
oy E4=71d

o 2 3.7 24.1 53.7 18.5
Z3(8% &) 1.0 14,7 64.7 19.6
2 (z2MZ) 1.1 14.9 63.0 21.0
W E 4 5.4 18.9 45.9 29.7
g g 4™ 3.6 18.1 61.0 17.3
g 2 3.3 16.8 62.3 17.6
Ef 2 5.7 245 52.8 17.0
7| Et - 9.2 77.6 13.2
oMy sS4

2z 0 g 3.7 17.7 59.1 19.5
nl z 2.5 18.2 60.8 18.5
ME/HE oy 2.8 15.0 64.1 18.0
I AEH

10092 ofgt 1.2 10.6 62.4 25.9
100 ~ 20021 Ofgt 3.4 20.5 57.9 18.1
200 ~ 300218 ojet 2.4 16.7 64.1 16.7
300 ~ 400244 ojgt 2.9 16.6 63.3 17.3
400 ~ 500219 ojgt 4.4 7.4 63.2 25.0
500 ¢ o4 - 85 69.5 22.0
DE/RSH 11.1 44.4 22.2 22.2
9424

0 = A 3.4 12,7 63.1 20.8
2 A £ A 3.1 18.1 62.3 16.6
s M4 o E 17 18.6 60.5 19.1
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0.5 6.6 59.1 33.8 M |
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0.4 6.6 57.6 35.4 et it
0.5 6.6 60.6 32.2 of it
oy E4=571
- 9.3 61.1 29.6 of 2
- 5.9 59.8 343 Z3(8Z §)
- 6.2 55.8 38.0 Z2(2ME)
5.4 10.8 40.5 432 W E
0.8 7.0 60.4 31.8 g gz H
0.4 6.1 62.3 31.1 o 2
- 9.4 54,7 35.8 Ef e
- 5.3 53.9 40.8 7| E}
oMy sy
0.6 6.1 58.5 34.8 5 & 0 3
0.6 7.1 58.7 336 il E
0.3 6.3 59.7 33.7 HEW/HE o4
M ASHE
1.2 5.9 57.6 35.3 1000 oot
0.2 9.8 58.7 31.3 100 ~ 20024 ojot
0.6 5.2 61.2 33.1 200 ~ 30021 Ofet
0.3 45 60.4 34.8 300 ~ 4002t Ofgt
- 5.9 54.4 39.7 400 ~ 5002t fgt
1.7 10.2 475 40.7 500 ¢ o4
- 1.1 44.4 44.4 ZE/F8H
9424
0.3 7.8 60.8 31.2 B = A
0.5 58 60.6 33.1 2 Az A
0.7 6.9 55.1 37.3 5 M4 o Z
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M A 2.5 20.3 53.5 23.7
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G %t 2.0 10.8 53.5 248
of Xt 3.0 20.7 53.5 22.8
oy E4=71d

5 = - 20.4 53.7 25.9
22 (tE 5) 2.0 16.7 52.0 29.4
Z2(z2MZE) 1.4 17.8 54.3 26.4
W E 4 8.1 8.1 43.2 405
g 2 H 2.2 22.6 53.8 21.4
o 2 2.7 23.0 52.9 215
Ef 2 7.5 20.8 50.9 20.8
7| E} 2.6 11.8 61.8 23.7
oMy siEd

5z 0 g 18 22.6 51.2 24.4
nl z 3.1 20.3 53.4 232
MED/HE 04 2.0 19.7 54.2 24,1
I ASHE

1002t¢ ofot 4.7 16.5 48.2 30.6
100 ~ 20021 ofgt 2.9 24.2 52.8 20.0
200 ~ 300244 ojet 2.4 21.1 52.4 24.1
300 ~ 4009k Ofgt 1.6 15.7 57.8 24.9
400 ~ 500244 ojgt 15 20.6 485 29.4
500 ¢ o4 3.4 15.3 61.0 20.3
DE/R3H - 22.2 333 44.4
9424

0 = A 3.4 18.4 55.3 22.9
2 A = A 2.3 20.9 54.0 22.9
s M4 o E 2.0 21.1 51.0 26.0
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2.9 10.8 53.9 32.4 Z3(8Z §)
2.5 13.4 51.1 33.0 Z2(2ME)
8.1 8.1 459 37.8 W E
1.4 15.6 58.8 24.2 g gz H
2.9 15.0 58.0 24.2 o 2
5.7 15.1 54.7 24,5 Ef e
- 9.2 59.2 31.6 7| E}
oMy sy
1.2 15.9 54.3 28.7 5 & 0 3
3.1 14.2 55.9 26.8 il E
2.0 13.4 56.9 27.8 MEO/HE oY
M ASHE
35 11.8 57.6 27.1 1002t ¢ ofot
2.0 17.6 58.2 22.2 100 ~ 20024 ojot
3.2 13,5 53.6 29.7 200 ~ 30021 Ofet
13 10.2 60.4 28.1 300 ~ 40001 Ofgt
15 147 52.9 30.9 400 ~ 5002t fgt
5.1 15.3 44.1 35.6 500 ¢ o4
- 22.2 44.4 33.3 DE/?38H
9424
3.4 135 57.4 25.7 B = A
2.5 12.3 56.9 28.4 2 Az A
15 174 53.7 275 5 M4 o Z
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M A 1.4 7.2 61.0 30.4
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of Xt 1.2 6.6 61.5 30.6
oy E4=71d

ot 2 - 1.9 61.1 37.0
22 (tE 5) 1.0 49 65.7 28.4
Z2(z2MZE) 1.1 7.2 57.2 34.4
W E 4 8.1 2.7 51.4 37.8
g 2 H 0.8 8.6 61.0 29.5
o 2 1.2 8.0 64.5 26.2
Ef e 5.7 75 50.9 35.8
7| Et 1.3 3.9 57.9 36.8
oMy siEd

& 0 3 0.6 7.3 58.5 335
nl z 15 8.1 61.2 29.1
MED/HE 04 15 6.1 61.5 30.9
I ASHE

1002t¢ ofot 2.4 8.2 54.1 35.3
100 ~ 20021 ofgt 1.2 9.0 63.3 26.4
200 ~ 300244 ojet 1.8 6.8 60.2 31.3
300 ~ 4009k Ofgt 1.0 3.8 64.2 31.0
400 ~ 500244 ojgt - 13.2 515 35.3
500 ¢ o4 17 6.8 59.3 32.2
DE/R3H - 11.1 44.4 44.4
9424

0 = A 1.6 6.8 62.6 29.1
2 A = A 1.4 6.7 61.7 30.2
s M4 o E 1.2 8.3 58.6 31.9
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3.7 22.2 46.3 27.8 o e
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43 18.1 49.3 28.3 23 (x2H%)
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5.8 24.2 46.5 23.4 g gz H
6.8 20.7 49.2 23.4 ] 2
13.2 15.1 43.4 28.3 Ef 2
6.6 13.2 47.4 32.9 7| E}
oMy g=d
4.9 20.7 44,5 29.9 5z 0 3
6.8 22.0 47.2 24.0 il z
6.3 17.4 49.6 26.8 MEU/HE oy
I+ AE Y
8.2 17.6 42.4 31.8 1000 oot
5.6 23.7 46.5 24.2 100 ~ 200244 ojot
7.6 19.1 49.2 24.1 200 ~ 30021 Ofet
48 16.0 51.4 27.8 300 ~ 4002t mfgt
4.4 19.1 50.0 26.5 400 ~ 5002184 fgt
8.5 27.1 35.6 28.8 500 ¢ oY
11.1 11.1 33.3 44.4 DE/?38H
9424
55 20.0 50.9 236 B = A
6.0 17.2 50.2 26.7 5 A £ A
7.8 24.3 1.4 26.5 5 M4 o Z
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oy E4=71d

ot 2 1.9 7.4 68.5 22.2
22 (tE 5) - 49 70.6 24.5
Z2(z2MZE) 0.4 76 70.3 21.7
W E 4 - 5.4 56.8 37.8
g 2 H 1.4 10.0 68.2 20.3
g 2 1.2 9.2 67.4 22.1
Ef e 3.8 75 66.0 226
7| E} - 7.9 61.8 30.3
oMy siEd

& 0 3 12 7.3 73.2 18.3
nl z 0.6 9.0 67.5 22.9
MED/HE 04 15 8.3 66.8 23.5
I ASHE

1002t¢ ofot 1.2 35 69.4 25.9
100 ~ 20021 ofgt 1.2 1.2 67.5 20.0
200 ~ 300244 ojet 0.8 8.2 67.7 233
300 ~ 4009k Ofgt 1.0 7.3 69.6 22.0
400 ~ 500244 ojgt 2.9 74 61.8 27.9
500 oHg o4 - 6.8 67.8 25.4
DE/R3H - 11.1 55.6 333
9424

B = A 1.3 7.8 65.2 25.7
2 A 2 A 0.8 8.0 69.3 21.9
s M o E 1.2 10.0 67.9 20.8
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1.4 9.8 63.9 25.0 Tl |
4 4
1.0 7.6 62.9 28.4 et it
1.8 11.8 64.8 21.7 of it
oy E4=571
1.9 11.1 64.8 22.2 o e
- 6.9 61.8 31.4 52 (85 §5)
1.1 11.6 62.7 24.6 E2(24%F)
2.7 5.4 59.5 32.4 W & 4
1.4 10.3 63.8 245 g gz H
1.4 10.2 65.4 23.0 Y 2
5.7 1.9 66.0 26.4 E 2
- 7.9 61.8 30.3 7| E}
oMy g=d
1.2 11.6 61.6 25.6 & 0 3
15 9.9 64.9 23.7 il z
1.3 9.1 63.3 26.3 HEW/HE oY
I}t AEH
1.2 5.9 67.1 25.9 1000 oot
2.0 9.5 64.3 24.2 100 ~ 20028 o[t
1.2 11.6 60.6 26.7 200 ~ 300244 ojet
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Ef 2 1.9 11.3 43.4 43.4
7| E} 1.3 3.9 53.9 40.8
oMy sS4

2z 0 g 1.2 11.0 52.4 35.4
nl z 16 8.7 515 38.2
ME/HE oy 0.7 76 49.8 42.0
I AEH

1002t¢ ofot 2.4 10.6 45.9 412
100 ~ 20021 Ofgt 0.5 11.0 52.3 36.2
200 ~ 300244 ojet 1.0 6.8 50.6 416
300 ~ 4009k Ofgt 1.6 7.0 53.0 38.3
400 ~ 500244 ojgt 2.9 13.2 426 41.2
500 ¢ o4 17 5.1 458 475
DE/R3H - 11.1 66.7 22.2
9424

0 = A 18 75 49.4 41.3
g A = N 0.8 9.0 53.7 36.5
s M4 o E 1.2 8.6 478 42.4
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2.0 13.7 49.1 35.2 Tl |
4 4
2.4 15.7 47.4 345 et it
16 11.8 50.7 35.9 of it
oy E4=571
- 13.0 37.0 50.0 o e
1.0 15.7 471 36.3 52 (85 §5)
25 14.9 46.4 36.2 Z2(2ME)
8.1 216 32.4 37.8 W & 4
25 15.0 52.9 29.5 g gz H
1.4 11.9 51.0 35.7 o 2
1.9 13.2 43.4 415 E 2
13 9.2 51.3 38.2 7| E}
oMy g=d
3.0 226 46.3 28.0 5z 0 3
2.4 12.6 51.2 33.9 il z
1.3 12.6 47.4 38.7 MEU/HE oy
I+ ASH
3.5 12.9 52.9 30.6 1000 oot
0.7 13.9 52.6 32.8 100 ~ 20028 o[t
2.0 13.1 47.4 37.5 200 ~ 30021 Ofet
2.9 16.0 47.0 34.2 300 ~ 40001 Ofgt
2.9 8.8 44,1 441 400 ~ 50001 Ofgt
3.4 10.2 475 39.0 500 ¢ oY
- 22.2 66.7 11.1 DE/?38H
9424
2.3 13.8 46.8 37.1 B = A
2.0 13.7 51.2 33.1 2 A 2 )
1.7 13.7 478 36.8 5 M4 o Z
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7 2| He 2%x yot JZx| 2 Ho|ct a9 molck o4 2ot
M A 35.8 39.9 17.0 7.2
4 4

G it 36.6 36.9 18.2 8.2
of it 35.1 42.8 15.9 6.2
oy E4=71d

ot 2 426 42,6 9.3 5.6
Z3(8% &) 42.2 324 15.7 9.8
Z2(z2MZ) 449 33.0 15.9 6.2
W E 4 43.2 35.1 10.8 10.8
g 2 H 25.6 415 22.8 10.0
g 2 36.7 426 15.0 5.7
Ef 2 34.0 43.4 18.9 38
7| E} 30.3 48.7 15.8 5.3
oMy sS4

2z 0 3 378 37.2 18.3 6.7
nl z 35.2 41.4 16.3 7.1
ME/HE oy 36.0 39.0 17.5 7.4
I AEH

1002t¢ ofot 37.6 32.9 22.4 7.1
100 ~ 20021 Ofgt 30.6 413 19.6 8.6
200 ~ 300244 ojet 375 416 14,7 6.2
300 ~ 4009k Ofgt 38.0 37.4 16.6 8.0
400 ~ 500244 ojgt 39.7 38.2 16.2 5.9
500 2t oA 42.4 40.7 13.6 3.4
DE/R3H 22.2 44.4 22.2 11.1
9424

0 = A 39.2 37.9 17.4 55
2 A £ A 36.8 40.6 15.6 6.9
s M4 o E 31.1 40.7 18.9 9.3
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438 37.0 147 45 M |
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4.7 35.1 16.3 5.9 et Xt
44.9 38.9 13.1 3.1 of it
oy E4=571

61.1 315 3.7 3.7 o 2
451 35.3 1.8 78 52 (85 §5)
471 35.1 13.0 47 Z2(2ME)
48.6 37.8 5.4 8.1 W E 4
32.0 42.6 20.6 47 g gz H
47 1 35.2 145 3.1 o 2
47.2 30.2 20.8 1.9 E 2
47.4 39.5 5.3 7.9 7| E}
oMy g=d

415 36.6 17.7 43 5z 0 3
41 39.5 13.8 5.6 il z
47 4 34.4 14.9 3.3 MEU/HE oy
I+ AE Y

447 34.1 18.8 2.4 1000 oot
37.4 40.1 17.4 5.1 100 ~ 20028 o[t
47.4 35.3 13.3 40 200 ~ 30021 Ofet
44.1 37.4 12.8 58 300 ~ 4002t mfgt
44.1 38.2 147 2.9 400 ~ 5002184 fgt
54.2 32.2 11.9 1.7 500 ¢ oY
44.4 333 11.1 11.1 DE/?38H
9424

45,7 37.4 13.0 3.9 i = A
445 37.1 14.1 43 2 A 2 )
40.9 36.5 17.2 5.4 5 M4 o Z
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M A 441 38.3 14.4 33
4 4
G it 44.4 358 16.3 3.5
of At 438 40.7 12.6 3.0
oy E4=71d
ot 2 50.0 38.9 7.4 3.7
Z3(8% &) 50.0 34.3 10.8 49
Z2(z2MZ) 48.6 32.2 16.7 2.5
W E 4 45.9 29.7 18.9 5.4
g 2 H 37.0 40.1 20.6 2.2
g = 45.9 40.4 9.8 3.9
Ef 2 30.2 47.2 20.8 1.9
7| Et 46.1 40.8 9.2 3.9
oMy sS4
2z 0 3 40.9 348 22.0 2.4
nl z 425 411 13,5 3.0
HEd/HE oy 46.8 36.0 13.4 3.8
I AEH
1002t¢ ofot 435 35.3 17.6 35
100 ~ 20021 Ofgt 36.7 445 15.2 3.7
200 ~ 300218 ojet 48.0 35.9 13.1 3.0
300 ~ 400244 ojgt 447 37.1 15.0 3.2
400 ~ 500244 ojgt 471 39.7 11.8 15
500 ¢ o4 525 27.1 15.3 5.1
DE/R3H 66.7 22.2 11.1 -
9424
of [ Al 47.0 36.4 14.0 2.6
2 A £ A 446 36.5 15,5 3.4
s M4 o E 40.4 42.9 13.0 3.7
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44.2 40.9 12.2 2.7 Tl |
4 4
43.0 40.2 13.6 3.3 Gl it
45.4 416 10.8 2.2 of Xt
oy E4=571
51.9 33.3 9.3 5.6 ot e
50.0 37.3 10.8 2.0 52 (85 §5)
471 35.1 15.2 2.5 E2(24%F)
37.8 45.9 135 2.7 W & 4
37.9 43.2 15.9 3.1 g gz H
46.3 43.0 8.0 2.7 o 2
34.0 43.4 22.6 - Ef 2
47.4 43.4 6.6 2.6 7| Et
oMy g=d
433 37.8 17.1 18 & 0 3
423 428 12.4 25 il z
46.6 39.7 10.6 3.1 HEM/HE oy
I}t AEH
435 41.2 11.8 3.5 1002t¢ oot
37.7 438 15.6 2.9 100 ~ 20028 o[t
47.2 39.0 10.8 3.0 200 ~ 300244 ojet
45.4 415 10.5 2.6 300 ~ 40001 Ofgt
50.0 412 8.8 - 400 ~ 50001 Ofgt
50.8 32.2 15.3 1.7 500 2t 0|4
55.6 44.4 - - ZE/F8H
9424
452 405 117 2.6 i = A
44.8 39.6 12.6 3.1 5 &2 = A
42.4 43.4 12.0 2.2 s M o E
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7 2| He 2%x yot JZx| 2 Ho|ct a9 molck o4 2ot
M A 65.1 27.8 55 17
4 4

G it 65.1 27.4 5.4 2.1
of it 65.0 28.0 5.6 1.4
oy E4=71d

ot 2 72.2 24.1 1.9 1.9
Z3(8% &) 65.7 235 8.8 2.0
2 (z2MZ) 68.1 25.4 4.7 1.8
W E 4 67.6 21.6 8.1 2.7
g g 4™ 56.8 32.9 8.6 17
g 2 68.6 26.4 3.3 16
Ef 2 58.5 34.0 75 -
7| E} 67.1 27.6 2.6 2.6
oMy sS4

£z 0 g 62.8 31.1 49 1.2
nl z 64.8 28.3 55 15
HEd/HE oy 66.0 26.3 5.6 2.1
I AEH

1002t¢ ofot 58.8 29.4 7.1 47
100 ~ 2002t o[t 58.7 32.0 6.6 2.7
200 ~ 300218 ojet 70.1 24.7 4.4 0.8
300 ~ 400244 ojgt 64.5 28.4 5.4 16
400 ~ 500244 ojgt 72.1 26.5 15 -
500 ¢ o4 69.5 18.6 10.2 17
DE/R3H 66.7 33.3 - -
9424

0 = A 67.0 26.2 4.4 2.3
2 A £ A 65.5 27.1 58 15
s M4 o E 62.5 30.1 5.9 15
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He| 2Kl rt | 3Kl YL Holct a2 Holck e a¥ct | 7 g - el
7.7 148 50.4 27.1 Tl A
4 E
8.3 15.6 49.6 26.4 o Tt
7.0 14.1 51.1 27.8 of At
ofHY EA=714
1.9 148 44.4 38.9 o 2
9.8 9.8 53.9 26.5 52(8z 5)
9.8 11.6 47.8 30.8 52 (x2M3%)
135 16.2 48,6 21.6 W E
7.8 20.3 51.8 20.1 g gz H
5.7 137 50.4 30.1 ] 8
11.3 17.0 52.8 18.9 Ef 2
7.9 11.8 51.3 28.9 7| E}
oMy &y
12.8 18.3 47.0 22.0 5z 0 3
7.1 16.0 51.8 25.1 inl z
6.9 12.6 49.8 30.7 HEW/HE o4
I+ AE Y
9.4 15.3 51.8 235 1002 ¢ ofot
6.1 16.4 54.3 23.2 100 ~ 200244 ojot
10.4 14.1 46.8 28.7 200 ~ 3002124 Ofgt
5.1 13.7 52.7 28.4 300 ~ 400244 ofgt
74 20.6 39.7 32.4 400 ~ 500244 ofgt
5.1 6.8 54.2 33.9 500 oHE oA
22.2 22.2 33.3 22.2 ng/28¢d
oegqgaod
10.4 14.0 44,7 30.9 B = A
6.4 14.6 52.5 26.5 5 A £ A
7.1 15.9 52.5 245 5 M4 of 2

163



SR om B N

0x Jo

E1-162 229 ¥2HE- ERY(E3x)2 Y oY, £, °E 5O WRGEE B MFRM
ool %

7 2| He 2%x yot JZx| 2 Ho|ct a9 molck o4 2ot
M A 3.7 7.6 49.3 39.3
4 4

G %t 3.5 8.2 49.1 39.2
of it 3.9 7.0 49.6 39.4
oy E4=71d

ot 2 3.7 74 426 46.3
Z3(8% &) 49 49 51.0 39.2
2 (z2MZ) 4.7 7.2 43.1 44.9
W E 4 2.7 8.1 59.5 29.7
g 2 H 3.9 9.2 55.4 315
g 2 2.9 7.2 49.6 40.4
Ef 2 9.4 11.3 43.4 35.8
7| Et - 5.3 43.4 51.3
oMy sS4

2 0 3 6.7 9.1 50.6 335
nl z 3.8 7.1 50.1 38.9
ME/HE oy 2.8 7.8 48.1 413
I AEH

1002t¢ ofot 7.1 10.6 447 37.6
100 ~ 20021 Ofgt 2.9 9.8 53.3 34.0
200 ~ 300244 ojet 5.2 5.4 46.6 42.8
300 ~ 4009k Ofgt 1.9 7.0 51.1 39.9
400 ~ 500244 ojgt 4.4 10.3 456 39.7
500 ¢ o4 17 6.8 475 441
DE/R3H - 11.1 44.4 44.4
9424

0 = A 4.2 6.5 48.8 405
2 A £ A 3.2 8.0 495 39.3
s M4 o E 4.2 8.1 495 38.2
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38 25.7 51.3 19.1 Tl |
4 4
4.4 27.2 48.7 19.8 et it
3.3 24.4 53.9 184 of it
oy E4=571
3.7 37.0 426 16.7 of 2
3.9 20.6 55.9 19.6 Z3(8Z §)
4.0 26.8 48.9 20.3 Z2(2ME)
- 27.0 56.8 16.2 W E 4
3.1 23.1 53.5 20.3 g gz H
45 27.3 51.4 16.8 o 2
1.9 20.8 54.7 226 Ef e
5.3 26.3 44,7 23.7 7| E}
oMy sy
3.0 25.6 50.0 213 5 & 0 3
3.3 25.7 51.2 198 il E
46 25.8 51.9 17.7 MEO/HE oY
M ASHE
35 21.2 49.4 25.9 1000 oot
3.9 24.2 50.9 21.0 100 ~ 2002t2! D[t
3.4 25.7 54.0 16.9 200 ~ 3002k4 ojet
35 25.6 53.0 17.9 300 ~ 40001 Ofgt
5.9 27.9 426 235 400 ~ 5002t fgt
6.8 35.6 42.4 15.3 500 ¢ o4
- 66.7 1.1 22.2 ZE/F8H
9424
6.5 33.2 475 12,7 W = A
3.7 28.5 50.2 17.6 2 Az A
15 14.2 56.9 275 5 M4 o Z
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7 2| ™ 12X gt JZx| 2 Ho|ct 12 Hojct o4 2ot
M A 3.0 15.3 54.9 26.7
4 4

G %t 3.4 15.8 53.9 26.9
of it 2.7 14.8 56.0 26.6
oy E4=71d

ot 2 3.7 20.4 51.9 24.1
Z3(8% &) 49 10.8 54.9 29.4
2 (z2MZ) 3.6 141 56.5 25.7
W E 4 2.7 16.2 459 35.1
g 2 H 1.9 12.8 57.4 27.9
g 2 3.3 18.2 54.1 24.4
Ef 2 1.9 15.1 453 37.7
7| Et 2.6 14,5 56.6 26.3
oMy sS4

2 0 3 3.0 14.6 53.7 28.7
nl z 3.0 13.8 55.6 27.7
ME/HE oy 3.1 17.2 54,5 25.1
I AEH

1002t¢ ofot 1.2 11.8 50.6 36.5
100 ~ 20021 Ofgt 3.4 15.9 52.8 27.9
200 ~ 300218 ojet 3.0 13.7 57.0 26.3
300 ~ 400244 ojgt 2.9 15.3 58.5 23.3
400 ~ 500244 ojgt 2.9 17.6 50.0 29.4
500 ¢ o4 5.1 237 49.2 22.0
DE/R3H - 333 33.3 33.3
9424

0 = A 7.0 18.2 58.7 16.1
2 A £ A 2.5 18.4 55.4 238
s M4 o E 0.2 7.6 50.7 41.4
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Mo 2Zx| ot JEX| 42 Holct a8 molct e a3t 7 2 s 77
44.3 40.7 11.1 3.9 M |
4 4
447 39.3 11.0 5.0 Gl it
43.9 42.0 11.1 3.0 of it
oy E4=571
44.4 44.4 9.3 1.9 of 2
471 37.3 8.8 6.9 Z3(8Z §)
453 35.5 145 47 Z2(2ME)
432 37.8 16.2 2.7 W E 4
426 426 1.4 3.3 g gz H
43.4 447 8.8 3.1 o 2
453 30.2 20.8 3.8 Ef =
50.0 355 6.6 7.9 7| Et
oMy sy
433 37.8 13.4 55 5 & 0 3
419 425 11.1 46 il E
47.3 39.5 10.4 2.8 MEO/HE oY
M ASHE
45.9 38.8 14.1 1.2 10002 ofot
36.4 46.0 12.2 5.4 100 ~ 2002t2! D[t
50.4 34.9 11.2 3.6 200 ~ 300244 ojet
435 425 10.2 38 300 ~ 40001 Ofgt
38.2 50.0 7.4 4.4 400 ~ 50001 Ofgt
54.2 35.6 8.5 1.7 500 2t 0|4
55.6 44.4 - - ZE/F8H
9424
44.2 413 12,5 2.1 i = A
446 419 9.4 4.1 2 Az A
43.9 38.2 12,5 5.4 s M o E
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7 2| He 2%x yot JZx| 2 Ho|ct a9 molck o4 2ot
M A 3.0 14.4 59.1 235
4 4

G At 2.0 10.9 58.0 29.1
of Xt 3.9 17.8 60.2 18.2
oy E4=71d

ot 2 1.9 24.1 57.4 16.7
22 (tE 5) 2.9 9.8 60.8 26.5
Z2(z2MZE) 43 12.7 60.1 22.8
W E 4 5.4 18.9 54.1 21.6
g 2 H 2.2 13.1 62.7 22.0
g 2 3.1 15.4 57.6 24.0
Ef 2 1.9 15.1 56.6 26.4
7| E} 1.3 17.1 51.3 30.3
oMy siEd

& 0 3 2.4 18.9 53.7 25.0
nl z 28 14.3 57.7 25.1
MED/HE 04 3.3 13.2 62.1 21.3
I ASHE

1002t¢ ofot 2.4 11.8 63.5 22.4
100 ~ 20021 ofgt 3.2 16.9 56.2 23.7
200 ~ 300244 ojet 2.6 14,7 58.8 23.9
300 ~ 4009k Ofgt 4.2 12,5 62.6 20.8
400 ~ 500244 ojgt 15 10.3 57.4 30.9
500 oHg oA 17 10.2 59.3 28.8
DE/R3H - 333 55.6 11.1
9424

B = A 5.5 15.6 60.8 18.2
2 A = A 2.8 16.4 57.7 23.2
s M o E 1.0 10.0 59.8 29.2
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2.4 10.7 64.5 22.4 Tl A
4 4
2.3 10.5 61.1 26.2 et it
2.4 11.0 67.8 188 of it
oy E4=571
5.6 148 61.1 185 of 2
2.0 49 64.7 28.4 Z3(8Z §)
2.9 12.7 61.6 22.8 Z2(2ME)
2.7 18.9 51.4 27.0 W E
0.8 11.1 67.7 20.3 g gz H
3.3 10.2 66.0 20.5 o 2
1.9 5.7 60.4 32.1 Ef e
- 9.2 61.8 28.9 7| E}
oMy sy
3.7 12.2 59.8 24.4 5 & 0 3
1.9 10.8 63.8 235 il E
2.5 10.2 66.6 20.7 MEO/HE oY
M ASHE
2.4 35 70.6 235 1000 oot
2.9 115 63.8 218 100 ~ 20024 ojot
2.6 1.4 63.1 22.9 200 ~ 3002k4 ojet
1.9 9.9 67.4 20.8 300 ~ 4002t Ofgt
- 11.8 57.4 30.9 400 ~ 5002t fgt
1.7 11.9 66.1 20.3 500 ¢ o4
- 22.2 55.6 22.2 ZE/F8H
9424
42 12.7 67.3 15.8 W = A
2.5 12.1 63.8 216 2 Az A
0.5 6.6 63.0 29.9 5 M4 o Z
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7 2| He 2%x yot JZx| 2 Ho|ct a9 molck o4 2ot
M A 3.9 16.4 56.1 23.6
4 4

G %t 3.8 15.3 547 26.2
of Xt 4.1 17.5 57.3 21.1
oy E4=71d

ot 2 3.7 27.8 48.1 20.4
22 (tE 5) 3.9 7.8 63.7 245
Z2(z2MZE) 43 18.8 49.3 275
W E 4 5.4 16.2 48.6 29.7
g g ¢« 3.6 17.3 57.9 21.2
o 2 45 16.0 58.0 215
Ef = 3.8 13.2 60.4 22.6
7| Et - 11.8 55.3 32.9
oMy siEd

5z 0 g 43 19.5 51.8 24.4
nl g 3.8 17.0 53.8 25.3
MED/HE 04 4.0 14.9 59.7 215
I ASHE

1002t¢ ofot 7.1 14.1 55.3 235
100 ~ 20021 ofgt 4.2 18.8 56.0 21.0
200 ~ 300218 ojet 3.4 17.3 55.0 24.3
300 ~ 400244 ojgt 4.2 13.4 58.1 24.3
400 ~ 500244 ojgt 5.9 13.2 52.9 27.9
500 ¢ o4 - 11.9 61.0 27.1
DE/R3H - 33.3 44.4 22.2
9424

0 = A 6.2 16.1 57.4 20.3
2 A = A 3.5 16.0 56.0 245
s M4 o E 2.5 17.4 54.9 25.2
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oy E4=571
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43.1 51.0 49 1.0 Z3(8Z §)
48.2 39.5 11.6 0.7 Z2(2ME)
432 37.8 18.9 - W E 4
39.3 45.4 15.0 0.3 g gz H
439 441 10.9 1.2 o 2
43.4 415 13.2 1.9 Ef e
53.9 39.5 6.6 - 7| E}
oMy sy
439 421 12.8 1.2 5 & 0 3
4116 45.0 12.6 0.9 il E
47.3 415 10.7 05 MEO/HE oY
M ASHE
471 36.5 16.5 - 10029 oot
43.0 43.0 13.2 0.7 100 ~ 2002t2! D[t
46.0 436 9.4 1.0 200 ~ 300244 ojet
39.9 46.3 12.8 1.0 300 ~ 40001 Ofgt
456 471 7.4 - 400 ~ 50001 Ofgt
55.9 27.1 16.9 - 500 2t 0|4
333 55.6 11.1 - DE/?38H
9424
46.2 423 10.6 0.8 i = A
40.6 456 12.9 0.9 2 Az A
48.0 40.2 1.3 0.5 s M o E
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M A 52.2 39.1 7.3 15
4 4

G %t 57.0 36.1 5.2 17
of At 476 42.0 9.2 12
oy E4=71d

ot 2 53.7 37.0 9.3 -
22 (tE 5) 54.9 38.2 4.9 2.0
Z2(z2MZE) 54.0 37.3 7.2 1.4
W E 4 56.8 32.4 10.8 -
g 2 H 476 418 8.6 1.9
g = 52.9 39.3 6.4 1.4
Ef 2 453 39.6 13.2 1.9
7| Et 60.5 36.8 2.6 -
oMy siEd

& 0 3 46.3 42.7 8.5 2.4
nl z 51.8 39.5 7.2 15
MED/HE 04 54.2 37.7 6.9 1.2
I ASHE

1002t¢ ofot 54.1 32.9 12.9 -
100 ~ 20021 ofgt 496 421 7.3 1.0
200 ~ 300244 ojet 54.4 36.3 7.4 2.0
300 ~ 4009k Ofgt 498 42.2 5.8 2.2
400 ~ 500244 ojgt 515 4112 7.4 -
500 oHg o4 59.3 35.6 5.1 -
DE/R3H 66.7 22.2 11.1 -
9424

B = A 55.3 37.7 5.7 1.3
2 A = A 475 42.0 8.4 2.0
s M o E 56.6 35.8 6.9 0.7
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51.6 36.8 10.5 1.1 et Xt
4.3 385 17.9 2.3 of it
oy E4=571

38.9 38.9 22.2 - of 2
51.0 32.4 13.7 2.9 Z3(8Z §)
51.1 32.2 15.6 1.1 Z2(2ME)
51.4 32.4 16.2 - W E
421 40.7 15.0 2.2 g g H
45,7 40.0 125 1.8 o 2
415 37.7 18.9 1.9 Ef e
53.9 36.8 7.9 1.3 7| Ef
oMy sy

439 37.8 16.5 18 5 & 0 3
459 38.8 143 1.0 il £
47.6 36.4 13.6 2.5 MEO/HE oY
M ASHE

48.2 34.1 16.5 1.2 1002t ¢ ofot
45.0 37.4 16.1 15 100 ~ 20024 ojot
48.4 37.1 125 2.0 200 ~ 3002k4 ojet
425 415 13.4 2.6 300 ~ 4002t Ofgt
54.4 30.9 147 - 400 ~ 5002t fgt
475 37.3 15.3 - 500 ¢ o4
44.4 333 22.2 - DE/?38H
9424

48.8 36.4 12.7 2.1 B = A
M7 39.4 16.9 2.0 2 Az A
51.5 36.0 115 1.0 5 M4 o Z
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G it 726 238 3.0 0.7
of Xt 66.7 275 5.3 0.5
oy E4=71d

ot 2 722 20.4 7.4 -
22 (tE 5) 72,5 20.6 5.9 1.0
Z2(z2MZE) 68.8 26.8 4.0 0.4
W E 4 78.4 16.2 5.4 -
g 2 H 67.4 27.9 42 0.6
o = 70.3 25.0 3.7 1.0
Ef e 62.3 30.2 75 -
7| Et 72.4 276 - -
oMy siEd

& 0 3 65.2 29.9 4.9 -
nl z 68.3 26.6 43 0.7
MED/HE 04 72.1 23.5 3.8 0.7
I ASHE

1002t¢ ofot 72.9 21.2 5.9 -
100 ~ 20021 ofgt 67.0 27.9 4.9 0.2
200 ~ 300244 ojet 70.3 23.9 46 12
300 ~ 4009k Ofgt 68.1 28.1 3.2 0.6
400 ~ 500244 ojgt 735 26.5 - -
500 ¢ o4 78.0 18.6 3.4 -
2E/F8H 77.8 22.2 - -
9424

0 = A 69.4 26.0 3.6 1.0
2 A = A 66.0 29.0 43 0.8
s M4 o E 75.5 20.1 4.4 -
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oy E4=571
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54.9 32.4 10.8 2.0 Z3(8Z §)
52.9 31.9 13.0 2.2 E3(x2M8F)
459 32.4 18.9 2.7 W E
45,7 38.4 13.9 1.9 g gz H
453 37.7 145 25 o 2
43.4 32.1 20.8 38 Ef e
52.6 32.9 11.8 2.6 7| Ef
oMy sy

457 34.8 18.3 1.2 5z 0 3
46.4 36.8 14.2 2.5 il E
49.9 34.7 12.9 25 HEd/HE old
M ASHE

50.6 31.8 15.3 2.4 1002t ¢ ofot
46.0 37.2 15.4 15 100 ~ 20024 ojot
48.6 36.5 12.0 3.0 200 ~ 3002k4 ojet
45.0 35.8 16.6 2.6 300 ~ 4002t Ofgt
54.4 32.4 11.8 15 400 ~ 5002t fgt
59.3 27.1 11.9 1.7 500 ¢ o4
333 44.4 11.1 11.1 DE/?38H
9424

53.2 33.8 10.9 2.1 B = A
44,0 37.3 15.6 3.1 2 Az A
48.8 35.0 147 15 5 M4 o Z

175

SH X om B M

0z 1o

—




SR om B N

0x Jo

EI-174 9&- Ue ofF go] R Y2 [ Y gRo|ZFE B2 11F Ag
ool %

= 2| Mo J%X Yrt JX| g42 mo|ct J& Ho|ct i S
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4 4

e Xt 35.2 44.6 18.1 2.1
o %t 28.2 48.0 21.0 2.8
oy E4=71d

o 2 22.2 44.4 33.3 -
Z3(8% &) 34.3 53.9 8.8 2.9
2 (z2MZ) 34.4 44.6 18.8 2.2
W E 4 35.1 48.6 13.5 2.7
g g H 29.0 44.6 23.7 2.8
g 2 328 46.9 17.4 2.9
Ef 2 245 47.2 26.4 1.9
7| Et 32.9 46.1 19.7 1.3
oMy sS4

% 0 g 22.0 50.0 25.6 2.4
il z 315 46.6 19.5 2.4
ME/HE oy 34.4 45.0 18.0 2.6
I+ ASH

10092 ofgt 25.9 54.1 17.6 2.4
100 ~ 2002+ Ofgt 29.3 46.2 22.2 2.2
200 ~ 300218 ojet 33.1 45.4 18.9 2.6
300 ~ 400244 ojgt 30.4 47.0 19.2 35
400 ~ 500219 ojgt 36.8 471 147 15
500 oHe o]y 458 37.3 16.9 -
2E/F8H 22.2 55.6 22.2 -
9424

U = A 29.9 48.6 18.7 2.9
z2 A £ ) 31.4 44.6 21.2 2.8
5 M4 o ZE 33.6 46.8 17.9 1.7
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53.9 412 2.9 2.0 Z3(8Z §)
56.2 35.1 8.0 0.7 Z2(2ME)
54.1 32.4 10.8 2.7 W E
53.8 35.1 10.3 0.8 g gz H
59.4 34.6 5.1 0.8 o 2
47.2 43.4 9.4 - Ef e
64.5 30.3 3.9 1.3 7| E}
oMy sy
51.2 37.8 9.8 1.2 5z 0 3
56.1 35.7 7.1 1.2 Il £
58.7 33.9 6.8 0.7 MEO/HE oY
M ASHE
58.8 30.6 10.6 - 1000 oot
54.5 36.9 8.3 0.2 100 ~ 20024 ojot
59.6 32.5 6.4 1.6 200 ~ 30021 Ofet
50.8 40.9 6.7 1.6 300 ~ 4002t Ofgt
64.7 29.4 5.9 - 400 ~ 5002t fgt
64.4 28.8 6.8 - 500 ¢ o4
55.6 333 11.1 - DE/?38H
9424
60.0 33.2 55 1.3 B = A
51.5 385 8.9 1.1 5 A £ A
61.5 31.6 6.4 0.5 5 M4 o Z
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oy E4=71d

ot 2 55.6 35.2 9.3 -
22 (tE 5) 54.9 37.3 3.9 3.9
Z2(z2MZE) 54,7 39.9 5.4 -
W E 4 54.1 29.7 13.5 2.7
g 2 H 50.4 418 7.0 0.8
g 2 57.2 39.3 33 0.2
Ef 2 453 358 18.9 -
7| Et 59.2 38.2 2.6 -
oMy siEd

& 0 3 457 433 10.4 0.6
nl z 53.3 40.7 5.5 0.6
MED/HE 04 58.0 36.7 46 0.7
I ASHE

1002t¢ ofot 56.5 40.0 3.5 -
100 ~ 20021 ofgt 52.1 37.9 9.3 0.7
200 ~ 300244 ojet 56.6 37.8 5.0 0.6
300 ~ 4009k Ofgt 50.5 45.4 3.2 1.0
400 ~ 500244 ojgt 55.9 4112 2.9 -
500 oHg o4 66.1 28.8 5.1 -
DE/R3H 66.7 22.2 11.1 -
9424

B = A 58.7 36.4 4.7 0.3
2 A = A 495 44,0 5.4 1.1
s M o E 58.1 346 7.1 0.2

178



EI-177 9&- Y& BY7 Ygxox 42 R 2

o %

e J%A oot | Ox| 22 Hojct 2 Ho|ct o4 2t T 2
58.1 35.5 5.9 0.6 M |
4 4

60.7 33.4 5.2 0.7 et it
55.6 37.5 6.5 0.4 of it
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58.7 348 6.2 0.4 Z2(2ME)
56.8 29.7 13,5 - W E
52.6 39.6 75 0.3 g gz H
60.7 34.0 4.7 0.6 o 2
60.4 37.7 1.9 - Ef e
65.8 32.9 13 - 7| E}
oMy sy

51.8 39.6 7.9 0.6 5 & 0 3
56.4 36.8 5.9 0.9 il E
61.7 32.9 5.3 0.2 HEW/HE o4
M ASHE

60.0 32.9 5.9 1.2 1002t ¢ ofot
57.2 35.9 6.6 0.2 100 ~ 20024 ojot
60.0 34.1 5.6 0.4 200 ~ 30021 Ofet
53.7 39.6 5.4 1.3 300 ~ 4002t Ofgt
61.8 338 4.4 - 400 ~ 50001 Ofgt
64.4 28.8 6.8 - 500 ¢ o4
55.6 33.3 1.1 - ZE/F8H
9424

62.1 32.2 55 0.3 B = A
53.4 39.3 6.4 0.9 2 Az A
61.8 32.6 5.4 0.2 5 M4 o Z
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of Xt 52.4 39.3 75 0.8
oy E4=71d

ot 2 50.0 38.9 11.1 -
22 (tE 5) 55.9 39.2 2.9 2.0
Z2(z2MZE) 54.7 37.3 76 0.4
W E 4 51.4 37.8 5.4 5.4
g 2 H 51.0 38.2 9.5 1.4
g 2 57.2 375 4.7 0.6
B 2 472 37.7 15.1 -
7| E} 61.8 34.2 3.9 -
oMy siEd

& 0 3 476 421 8.5 18
nl z 53.0 38.6 7.4 1.0
MED/HE 04 58.2 35.4 6.0 0.5
I ASHE

1002t¢ ofot 58.8 36.5 47 -
100 ~ 2002t o[t 54.0 35.9 9.0 1.0
200 ~ 300244 ojet 56.0 36.7 6.2 12
300 ~ 4009k Ofgt 498 42.8 6.4 1.0
400 ~ 500244 ojgt 55.9 39.7 4.4 -
500 oHg o4 64.4 28.8 6.8 -
DE/R3H 44.4 44.4 11.1 -
Yq42H4

W = A 58.7 32.7 7.8 0.8
2 A = A 498 42.0 6.7 1.4
s M o E 58.1 35.3 6.4 0.2
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oy E4=571
22.2 42.6 31.5 3.7 of 2
225 38.2 38.2 1.0 Z3(8Z §)
28.3 35.1 32.6 4.0 Z2(2ME)
29.7 35.1 29.7 5.4 W E
18.9 37.6 37.6 58 g gz H
21.3 416 32.8 43 o 2
22.6 415 26.4 9.4 Ef e
34.2 34.2 30.3 1.3 7| E}
oMy sy
17.1 37.2 415 43 5 & 0 3
23.2 37.3 34.5 5.0 il E
24.6 40.5 31.1 3.8 MEO/HE oY
M ASHE
212 447 28.2 5.9 1000 oot
21.0 36.9 38.1 3.9 100 ~ 20024 ojot
233 39.4 32.5 48 200 ~ 3002k4 ojet
24.6 39.3 31.6 45 300 ~ 4002t Ofgt
30.9 39.7 25.0 4.4 400 ~ 5002t fgt
25.4 28.8 44.1 1.7 500 ¢ o4
- 44.4 44.4 11.1 DE/?38H
9424
21.0 447 29.9 4.4 B = A
21.9 37.6 36.3 4.1 2 Az A
27.0 34.6 33.6 49 5 M4 o Z
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22 (tE 5) 18.6 30.4 441 6.9
Z2(2MZE) 22.5 31.2 40.2 6.2
W E 4 32.4 37.8 24.3 5.4
g 2 ¢ 17.0 29.0 44.8 9.2
o 2 141 36.9 41.4 76
Ef = 20.8 43.4 32.1 3.8
7| Et 22.4 32.9 43.4 1.3
oMy siEd

5z 0 g 20.7 28.0 445 6.7
nl z 17.5 328 41.1 8.6
MED/HE 04 18.0 36.2 405 5.3
I ASHE

10092 of gt 20.0 36.5 40.0 3.5
100 ~ 2002+ Ofgt 18.1 29.1 455 7.3
200 ~ 300218 ojet 17.3 35.1 39.6 8.0
300 ~ 400244 ojgt 19.2 33.2 42.8 48
400 ~ 500219 ojpt 20.6 41.2 324 5.9
500 ¢ o4 15.3 42.4 28.8 13.6
ZE/R3H - 44.4 44.4 1.1
9424

0 = A 19.2 38.4 36.6 5.7
2 A = A 16.3 31.6 44.6 75
s M4 o E 19.9 32.6 40.2 7.4
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24.1 42.6 29.6 3.7 o e
235 40.2 33.3 2.9 52 (85 §5)
29.0 42.8 23.9 43 E2(24%F)
32.4 32.4 32.4 2.7 W E 4
19.2 38.2 38.2 45 g gz H
21.9 39.3 34.6 4.1 o 2
28.3 50.9 15.1 5.7 E 2
30.3 39.5 30.3 - 7| E}
oMy g=d
232 39.0 32.3 55 5z 0 3
225 39.2 34.0 43 il z
25.3 415 30.1 3.1 MEU/HE oy
I+ ASH
17.6 471 31.8 35 1000 oot
22.7 38.4 35.2 3.7 100 ~ 20028 o[t
247 39.0 32.3 40 200 ~ 30021 Ofet
23.0 435 29.7 3.8 300 ~ 4002t mfgt
27.9 44,1 25.0 2.9 400 ~ 5002184 fgt
32.2 28.8 33.9 5.1 500 ¢ oY
11.1 44.4 22.2 22.2 Deg/2ey
9424
23.4 43,1 29.1 4.4 B = A
22.1 39.1 345 43 2 A 2 )
26.7 39.0 31.4 2.9 5 M4 o Z
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oy E4=71d

ot 2 13.0 51.9 333 1.9
22 (tE 5) 19.6 36.3 38.2 5.9
Z2(z2MZE) 25.7 35.9 33.0 5.4
W E 4 378 29.7 32.4 -
g 2 H 19.2 35.4 40.1 53
o = 19.7 37.3 38.1 49
Ef 2 28.3 415 26.4 38
7| E} 34.2 27.6 38.2 -
oMy siEd

5z 0 g 21.3 335 39.6 5.5
nl z 20.6 36.1 38.6 4.7
HEH/HZE o4 238 37.7 34.2 43
I ASHE

1002t¢ ofot 18.8 41.2 376 2.4
100 ~ 20021 ofgt 20.5 345 39.9 5.1
200 ~ 300244 ojet 22.9 36.3 36.3 46
300 ~ 4009k Ofgt 23.6 36.4 35.5 45
400 ~ 500244 ojgt 22.1 441 29.4 4.4
500 oHg oA 22.0 37.3 35.6 5.1
2E/F8H 1.1 33.3 44.4 1.1
9424

W = A 24.2 37.9 348 3.1
2 A = A 19.9 35.1 39.1 5.8
s M4 o E 23.3 37.3 35.3 4.2
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29.7 432 243 2.7 W E
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20.5 34.4 38.1 7.0 o 2
24.5 453 24,5 5.7 Ef e
32.9 30.3 32.9 3.9 7| E}
oMy sy
195 34.1 39.0 7.3 5 & 0 3
20.0 36.2 38.8 5.0 il E
235 38.0 31.9 6.6 HEW/HE o4
M ASHE
235 36.5 38.8 1.2 1002t ¢ ofot
18.1 37.7 37.9 6.4 100 ~ 20024 ojot
22.9 33.9 36.3 7.0 200 ~ 3002k4 ojet
233 37.1 355 42 300 ~ 40001 Ofgt
235 456 25.0 5.9 400 ~ 5002t fgt
18.6 44.1 28.8 8.5 500 ¢ o4
- 33.3 44.4 22.2 ZE/F8H
9424
22.6 38.2 34.3 49 B = A
19.2 36.0 38.3 6.4 2 Az A
23.8 36.5 33.6 6.1 5 M4 o Z
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oy E4=71d

ot 2 - 74 66.7 25.9
Z3(8% &) - 3.9 755 20.6
Z2(z2MZ) 1.8 10.5 64.5 23.2
W E 4 5.4 10.8 54.1 29.7
g 2 H 1.1 9.5 70.5 18.9
g 2 2.3 6.6 66.2 25.0
e = - 5.7 67.9 26.4
7| E} 1.3 3.9 60.5 34.2
oMy sS4

2 0 3 1.2 9.8 68.9 20.1
nl z 15 9.0 67.3 22.2
HEd/HE oy 1.8 6.0 66.3 26.0
I AEH

1002t¢ ofot 2.4 7.1 60.0 30.6
100 ~ 20021 Ofgt 1.2 9.5 68.5 20.8
200 ~ 300244 ojet 1.2 7.0 68.1 23.7
300 ~ 4009k Ofgt 2.6 7.7 69.3 20.4
400 ~ 500244 ojgt 15 5.9 60.3 32.4
500 ¢ o4 - 6.8 57.6 35.6
DE/R3H 11.1 11.1 44.4 333
9424

0 = A 2.1 7.3 67.8 22.9
g A = N 17 8.0 66.3 24.1
s M4 o E 1.0 8.1 67.6 23.3
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2.1 5.4 64.6 27.9 Gl it
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- 2.9 67.6 29.4 52 (85 §5)
1.1 7.2 62.7 29.0 Z2(2ME)
5.4 5.4 56.8 32.4 W & 4
0.8 6.4 68.2 245 g gz H
2.0 5.1 63.5 29.3 g 2
- 3.8 736 22.6 E 2
13 2.6 59.2 36.8 7| E}
oMy g=d
0.6 55 69.5 24.4 & 0 3
1.3 5.3 66.0 27.4 il z
15 6.0 62.5 30.1 MEU/HE oy
I+ ASH
1.2 3.5 63.5 31.8 1002t¢ oot
1.0 7.1 67.7 24.2 100 ~ 20028 o[t
16 46 63.9 29.9 200 ~ 300244 ojet
1.3 6.7 66.1 25.9 300 ~ 40001 Ofgt
15 15 60.3 36.8 400 ~ 50001 Ofgt
- 5.1 57.6 37.3 500 2t 0|4
11.1 11.1 44.4 333 neg/28yg
9424
1.3 5.2 68.1 25.5 i = A
15 6.1 63.2 29.1 2 A 2 )
1.0 5.1 64.7 29.2 s M o E
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o = 1.9 9.3 68.5 20.4
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2 (z2MZ) 1.4 12.0 60.9 25.7
W E 4 5.4 13.5 54.1 27.0
g g o 1.7 1.4 64.6 22.3
g 2 1.4 1.3 57.4 29.9
Ef 3 - 13.2 62.3 24.5
7| Et 2.6 5.3 60.5 31.6
oMy sS4

% 0 g 0.6 14.6 63.4 21.3
il z 15 9.5 62.6 26.5
ME/HE oy 2.1 1.1 58.5 28.3
I+ ASH

10092 ofgt 3.5 8.2 57.6 30.6
100 ~ 2002+ Ofgt 15 13.7 62.1 22.7
200 ~ 300218 ojet 1.6 9.6 61.4 275
300 ~ 400244 ojgt 1.9 10.9 62.6 24.6
400 ~ 500219 ojgt 15 7.4 54.4 36.8
500 oHe o]y - 6.8 54.2 39.0
ZE/R3H - 1.1 55.6 33.3
9424

U = A 16 7.0 66.8 24.7
3 2 & N 2.3 12.3 58.1 27.3
5 M4 o ZE 0.7 1.8 60.0 275
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5.3 21.7 55.9 17.0 g 2
75 245 43.4 245 E 2
6.6 13.2 52.6 27.6 7| E}
oMy g=d

3.0 30.5 476 18.9 5 & 0 ¢
4.1 235 55.2 17.2 1 z
5.0 19.8 56.7 18.5 HEW/UHE 04
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